CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. 2 & FINAL THIRD STREET RECONSTRUCTION ST01-1082

7/24/2002

ORIGINAL CONTRACT AMOUNT: \$189,174.90

CONTRACTOR: HILLS MATERIALS COMPANY

LINE			CONTRACT	UNIT	EXTENDED	INSTALLED	REVISED UNIT	INSTALLED	INCREASE/
ITEM	DESCRIPTION	UNIT	QUANTITY	PRICE	PRICE	QUANTITY	PRICE	PRICE	(DECREASE)
1	MOBILIZATION	LS	1.00	\$9,800.00	\$9,800.00	1.00	\$9,800.00	\$9,800.00	\$0.00
2	150 MM PVC WATER MAIN	М	12.80	\$58.00	\$742.40	12.80	\$58.00	\$742.40	\$0.00
3	200 MM PVC WATER MAIN	М	137.40	\$57.00	\$7,831.80	137.40	\$57.00	\$7,831.80	\$0.00
4	200 MM X 200 MM X 150 MM TEE	EA	1.00	\$340.00	\$340.00	2.00	\$340.00	\$680.00	\$340.00
5	200 MM 45 DEGREE BEND	EA	5.00	\$200.00	\$1,000.00	5.00	\$200.00	\$1,000.00	\$0.00
6	200 MM GATE VALVE W/ BOX	EA	2.00	\$800.00	\$1,600.00	2.00	\$800.00	\$1,600.00	\$0.00
7	FIRE HYDRANT W/AUX. VALVE & LEAD	EA	1.00	\$2,500.00	\$2,500.00	1.00	\$2,500.00	\$2,500.00	\$0.00
8	ABANDON VALVE	EA	2.00	\$50.00	\$100.00	2.00	\$50.00	\$100.00	\$0.00
9	SALVAGE FIRE HYDRANT & AUX. VALVE	EA	1.00	\$400.00	\$400.00	1.00	\$400.00	\$400.00	\$0.00
10	TIE TO EXIST. WATER MAIN	EA	2.00	\$525.00	\$1,050.00	2.00	\$525.00	\$1,050.00	\$0.00
11	TYPE I GRANULAR BACKFILL	M TON	69.64	\$19.00	\$1,323.16	69.64	\$19.00	\$1,323.16	\$0.00
12	TYPE II GRANULAR BACKFILL	M TON	0.00	\$22.50	\$0.00	0.00	\$22.50	\$0.00	\$0.00
13	UNCLASSIFIED EXCAVATION	CM	706.00	\$12.00	\$8,472.00	721.20	\$12.00	\$8,654.40	\$182.40
14	ASPHALT PAVEMENT SAWING	М	87.00	\$9.50	\$826.50	87.00	\$9.50	\$826.50	\$0.00
15	REMOVE ASPHALT CONCRETE PAVEMENT	SM	23.00	\$8.70	\$200.10	1,505.66	\$4.46	\$6,715.24	\$6,515.14
16	MILL & REM. ASPHALT CONC. PAVEMENT	SM	372.34	\$4.40	\$1,638.30	372.34	\$4.40	\$1,638.30	\$0.00
17	REMOVE CONCRETE CURB AND GUTTER	М	43.18	\$20.00	\$863.60	43.18	\$20.00	\$863.60	\$0.00
18	GEOGRID/SOIL SUPPORT FABRIC	SM	1,506.66	\$3.30	\$4,971.98	1,506.66	\$3.30	\$4,971.98	\$0.00
19	AGGREGATE BASE COURSE	M TON	1,411.61	\$15.50	\$21,879.96	1,407.53	\$15.50	\$21,816.72	(\$63.24)
20	AC, CLASS G, TYPE 1	M TON	561.13	\$43.00	\$24,128.59	561.13	\$43.00	\$24,128.59	\$0.00
21	AC, CLASS G, TYPE 2	M TON	253.61	\$47.00	\$11,919.67	266.96	\$47.00	\$12,547.12	\$627.45
22	CONCRETE CURB, TYPE B200	М	28.18	\$120.00	\$3,381.60	28.18	\$120.00	\$3,381.60	\$0.00
23	1200 MM RCP, CLASS II	М	181.73	\$285.00	\$51,793.05	181.73	\$285.00	\$51,793.05	\$0.00
24	1200 MM RCP 7.5 DEG BEND	EA	15.00	\$600.00	\$9,000.00	15.00	\$600.00	\$9,000.00	\$0.00
25	1200 MM RCP FLARED END	EA	1.00	\$1,000.00	\$1,000.00	1.00	\$1,000.00	\$1,000.00	\$0.00
26	300 MM EDGE DRAIN & ROCK	М	275.92	\$14.50	\$4,000.84	275.92	\$14.50	\$4,000.84	\$0.00
27	CLASS 2 RIPRAP, W/BEDDING	SM	46.00	\$28.50	\$1,311.00	46.00	\$28.50	\$1,311.00	\$0.00
28	SEEDING,FERTILIZING,MULCHING	SM	958.03	\$0.75	\$718.52	958.03	\$0.75	\$718.52	\$0.00
29	SODDING	SM	23.23	\$4.50	\$104.54	23.23	\$4.50	\$104.54	\$0.00
30	COLD PLAST. MARKING, 100 MM	М	354.88	\$11.00	\$3,903.68	354.88	\$11.00	\$3,903.68	\$0.00
31	TRAFFIC CONTROL	LS	1.00	\$7,400.00	\$7,400.00	1.00	\$7,400.00	\$7,400.00	\$0.00
32	INCIDENTAL WORK	LS	1.00	\$6,000.00	\$6,000.00	1.00	\$6,000.00	\$6,000.00	\$0.00
33	200 MM PVC PIPE CAP	EA	0	\$0.00	\$0.00	1.00	\$185.00	\$185.00	\$185.00
34	1200 MM RCP TEE	EA	0	\$0.00	\$0.00	1.00	\$950.00	\$950.00	\$950.00
35	CONCRETE PIPE COLLAR	EA	0	\$0.00	\$0.00	1.00	\$325.00	\$325.00	\$325.00
36	STREET SIGN	EA	0	\$0.00	\$0.00	2.00	\$130.00	\$260.00	\$260.00

No. PW081402-02

TOTAL		\$190,201.28	\$199,523.03 \$9,321.75
C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$190,201.28
CCO #1 CCO #2	\$1,026.38	NET INCREASE/(DECREASE):	\$9,321.75
CCO #3		ADJUSTED CONTRACT PRICE:	\$199,523.03
PRIOR TOTAL =	\$190,201.28	CHANGE TO DATE:	\$9,321.75
CONTRACTOR:			DATE:
ENGINEER:			DATE:
MAYOR:			DATE:
FINANCE:			DATE:
CONTRACT TIME CHANGE +/-: 0 NEW CONTRA	CT TIME: Days		

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. 2 & FINAL THIRD STREET RECONSTRUCTION

ST01-1082 JULY 24,2002

ORIGINAL CONTRACT AMOUNT: \$189,174.90

CONTRACTOR: HILLS MATERIALS COMPANY

LINE		
ITEM	DESCRIPTION	REASON FOR CHANGE
1	MOBILIZATION	NO CHANGE
2	150 MM PVC WATER MAIN	MEASURED QUANTITY
3	200 MM PVC WATER MAIN	MEASURED QUANTITY
4	200 MM X 200 MM X 150 MM TEE	ADDITIONAL NEEDED TO LOWER WATER UNDER STORM SEWER
5	200 MM 45 DEGREE BEND	ADDITIONAL NEEDED TO LOWER WATER UNDER STORM SEWER
6	200 MM GATE VALVE W/ BOX	REPLACED OLDER/LEAKING VALVE ON ABANDONDED LINE SEGMENT
7	FIRE HYDRANT W/AUX. VALVE & LEAD	NO CHANGE
8	ABANDON VALVE	REMOVED LEAKING VALVE ON OLD RUN
9	SALVAGE FIRE HYDRANT & AUX. VALVE	NO CHANGE
10	TIE TO EXIST. WATER MAIN	NO CHANGE
11	TYPE I GRANULAR BACKFILL	MEASURED QUANTITY
12	TYPE II GRANULAR BACKFILL	MEASURED QUANTITY
13	UNCLASSIFIED EXCAVATION	MEASURED QUANTITY
14	ASPHALT PAVEMENT SAWING	NO CHANGE
15	REMOVE ASPHALT CONCRETE PAVEMENT	FINAL QUANTITY, IN LIEU OF 16
16	MILL & REM. ASPHALT CONC. PAVEMENT	FINAL QUANTITY, TO ENABLE THRU TRAFFIC ON HARD SURFACE LONGER DURATION
17	REMOVE CONCRETE CURB AND GUTTER	EXTRA CURB REMOVED AND REPLACED TO FACILITATE EYE CLINIC LOT SPLIT
18	GEOGRID/SOIL SUPPORT FABRIC	MEASURED QUANTITY
19	AGGREGATE BASE COURSE	MEASURED QUANTITY
20	AC, CLASS G, TYPE 1	MEASURED QUANTITY
21	AC, CLASS G, TYPE 2	MEASURED QUANTITY
22	CONCRETE CURB, TYPE B200	MEASURED QUANTITY
23	1200 MM RCP, CLASS II	MEASURED QUANTITY
24	1200 MM RCP 7.5 DEG BEND	MEASURED QUANTITY
	1200 MM RCP FLARED END	NO CHANGE
_	300 MM EDGE DRAIN & ROCK	MEASURED QUANTITY
27	CLASS 2 RIPRAP, W/BEDDING	MEASURED QUANTITY
	SEEDING,FERTILIZING,MULCHING	MEASURED QUANTITY
	SODDING	MEASURED QUANTITY
30	COLD PLAST. MARKING, 100 MM	ADDED SECOND CENTERLINE STRIPE CONSISTANT WITH NEW POLICY
31	TRAFFIC CONTROL	NO CHANGE
32	INCIDENTAL WORK	NO CHANGE

No. PW081402-02

33	200 MM PVC PIPE CAP	JADDITIONAL NEEDED TO LOWER WATER UNDER STORM SEWER
34	1200 MM RCP TEE	NEW ITEM TO PROVIDE MANHOLE ACCESS TO IMPROVE MAINTNENACE OF STORM SEWER
35	CONCRETE PIPE COLLAR	NEEDED TO TIE NEW STORM SEWER TO OLD
36	STREET SIGN	NO PARKING SIGNS NEEDED TO PREVENT HOSPITAL STAFF PARKING IN STREET DRIVING LANE

PREPARED BY:	DATE:	7/24/02
Joe Jagodzinski, PE		